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Among the five geographical divisions of the Tamil country in Sangam
literature, the Marutham region was the one fit for cultivation, as it had the most
fertile lands. The prosperity of farmer depended on getting the necessary sunlight,
seasonal rains and the fertility of the soil. Among these elements of nature, sunlight
was considered indispensable by the ancient Tamils.
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Language — Part II — ENGLISH

[ Maximum Marks : 100

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline.

PART -1

Note : (i)  Answer all the questions. 14x1=14

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

Choose the appropriate synonym for the italicised words.

Navika Sagar Parikrama was a project undertaken in consonance with the National

Policy.
(a) connection (b) agreement
(¢) comparison (d) arrangement

The little seagull even gnawed at the dried pieces of eggshell.
(a) chewed (b) cackled (c) swallowed (d) craved

His idea of going away, made me forget all about his ruler and how cranky he was.
(a) tyrannical (b) strange () powerful (d) learned

Choose the appropriate antonym for the italicised words.

Technology ........... is also a boon to citizens with special needs.
(a) bonus (b) Dbane (c) Dblast (d) Dblock

They were the steps of a man walking rapidly around the dining-table.
(a) timidly (b) silently (c) slowly (d) decently

What was the selection process ?
(a) rejection (b) extension (c) termination (d) collection

Choose the correct plural form of loaf from the following :
(a) loafes (b) loafs (c) loafies (d) loaves
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Form a derivative by adding the right suffix to the word “appear’.
(a) -able (b) - ence (c) -ible (d) - ance

Choose the correct expansion of the abbreviation IIT.
(a) Indian Institute of Telecommunication

(b) Indian Institute of Theology

(¢) Indian Institute of Transportation

(d) Indian Institute of Technology

Complete the following sentence with the most appropriate phrasal verb given below.
The sailors soon food and water.

(a) got along with (b)  stood up for

() ran out of (d) looked up to

Choose the suitable option to pair it with the word "fare’ to form a compound word.
(a) engine (b) play (c) away (d) well

Fill in the blank with the most appropriate preposition given below.
The child hid the stairs when the mother called her for a bath.
(a) among (b) upon () above (d) under

Complete the following sentence using the most appropriate tense form of the verb
given below.

If he her, she would have waited for him.
(a) has informed (b) informed
(¢) had informed (d) was informing

Choose the most appropriate linker from the given four alternatives.
My uncle entered my house I was doing my homework.

(a) when (b) since (¢) whenever (d) after
PART - 1II
SECTION -1
Answer any three of the following questions in a sentence or two. 3x2=6

What woke up the mother ?
What was the daily routine of Sanyal ?
Who arrested Smith ? What were the charges against him ?

What devices help David to move from one place to another ?
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SECTION - 2

Read the following sets of poetic lines and answer any three of the following.

My heart will keep the courage of the quest,
And hope the road’s last turn will be the best.

(a) What kind of quest does the poet seek here ?
(b) What is the poet’s hope ?

Began to complain when he found that, at home,
His cupboard was empty, and winter was come.

(a) Who does ‘he’ refer to ?
(b) Why was his cupboard empty ?

We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit

(a) Who does ‘we’ refer to ?
(b)  Where are they melted ?

It never grows leaves,
Not in the winter, spring, summer or fall.

It just sits there, never getting small or ever growing tall.

(a) What does ‘it” refer to ?
(b) In what way is the tree a mystery ?

SECTION - 3

Answer any three of the following.
Rewrite the following sentence in Active voice.

You are advised not to be careless.

Change into indirect speech.
Maya said, “When is Zigzag coming here?”

Punctuate the following sentence.
the general is a woman yelled the soldiers.

3561 (NS)

3x2=6

3x2=6
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26.

27.

28.

29.

30.

31.

32.

Transform the following sentence into a simple sentence.

Ramesh changed his dress and went out to play.

Rearrange the words in the correct order to make meaningful sentences.

(a) followed/suggestion/my/they
(b) hard-working/Mathew/was/businessman/a

SECTION - 4

Answer the following question.

1x2=2

A stranger wants to visit the Museum. Write the steps to guide him to reach his

destination.

m Museum

> Temple

@ You are here.

Bus Stop

PART - III
SECTION -1

Answer any two of the following in a paragraph.

Describe the struggle underwent by the young seagull to overcome its fear of flying.

Give a brief character sketch of Sasanka Sanyal.
How do we use technology in our day-to-day lives ?

Give an account of the last day of M. Hamel in school.
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SECTION - 2

Answer any two of the following. 2x5=10

What is the central theme of the poem ‘No men are foreign’ ?
How are today’s women portrayed by the poet ?

Read the following stanza and answer the questions given below.
She’s a lioness; don’t mess with her.
She’ll not spare you if you're a prankster.
Don't ever try to saw her pride, her self-respect.

She knows how to thaw you, saw you - so beware!

i)  Pick out the thyming words from the above lines.

=3
=

Write the rhyme scheme of the given stanza.

=
=

Identify the figure of speech employed here in this stanza.

iv) Pick out the alliterating words in the fourth line.

Paraphrase the following stanza.
At night the house seems to be alive,
Lights flicker on and off.
I am often tempted to go to the house,
To just take a look and see what it is really about,

But fear takes over me.

SECTION - 3

Answer any one of the following. 1x5=5

Rearrange the following sentences in coherent order.

i)  The King of Naples and Antonio repented the injustice they had done to Prospero.
ii

=

Before Prospero left the island, he dismissed Ariel from his service.

(
(
(iii) He showed him his son Ferdinand playing chess with Miranda.
(
(

=

iv) Our food lasted till we landed on this desert island.

=

v

-

I will make you rich amends, by giving you my daughter.

[ Turn over
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38.

39.

40.

41.

42.

Read the following passage and answer the questions that follow.

In total despair at their failure to wake Zigzag, or at least stop him snoring, they
shut themselves in the bedroom that was furthest away from Mrs. Krishnan’s studio
where Zigzag was creating the terrible din. Mrs. Krishnan was just unraveling a roll of
cotton wool to stuff in her ears, when they heard their maid, Lakshmi, shrieking as if
she had been electrocuted.

i)  Were they able to stop Zigzag from snoring ?

(
(i) Where did they shut themselves ?
(iii) What was Mrs. Krishnan trying to do ?
(iv) Who is Lakshmi ?
(v) How did Lakshmi scream ?
SECTION - 4
Answer any four of the following. 4x5=20

Prepare an attractive advertisement using the hints given below.
Raj Apparels - Aadi Sale - 40% - Special combo offers - Buy 1 Get 1 - West street -
Madurai.

Write a letter to the Manager of a popular children’s magazine, ordering subscription
for your school library.

You are Aruna/Akash, the Literary Association Secretary of GHSS, Madurai. Prepare
a notice on behalf of your school, inviting the students to participate in the oratorical
competition to be conducted next month.

Look at the following picture and express your views on it in a paragraph of five
sentences.
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Make notes or write a summary of the following passage.

Dragon tales are known in many cultures, from the Americas to Europe, and
from India to China. It's not clear when or where stories of dragons first emerged, but
the huge, flying serpents were described by the ancient Greeks and Sumerians.

The word “dragon’ comes from the ancient Greek word ‘draconta’, meaning ‘to
watch’, suggesting that the dragons are responsible for guarding valuables. Dragons
typically guard treasures such as mountains of gold coins or gems. Some dragons have
wings ; others don’t. Some dragons breathe fire ; others can’t. Some are only a few feet
long ; others span miles. Some live under the ocean ; others can only be found in caves
and inside the mountains.

Identify the errors in the following sentences and rewrite them correctly.
a) Ibought an book this morning.
b

=

Sita goes to the market yesterday.

d

=

(

(

(c)  We have not eaten anything from a long time.

( Sundar is either a cricket player nor a football player.
(

e) We watched the sheeps grazing in the field.

SECTION - 5
Quote from memory. 1x5=5
Some water, coal ............. and drive.
PART - IV
Write a paragraph of about 150 words by developing the following hints. 2x8=16

(a) True Story - little boy named Peter - rescues his fellowmen - sees a small hole -
water flows like a stream - thrusts his finger - stops the leaking water - next
morning - people repair the hole - thank Peter.

OR

(b) Mulan - woman of courage - joins army - fights well - good leadership qualities -
leads the troops - becomes General - Doctor reveals Mulan’s identity - again wins
the battle - Emperor appoints - royal adviser - Mulan returns home happily.
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47. Read the following paragraph and answer the questions given below.

Elephants are considered keystone and umbrella species as they play a key role
within the environment that they live in. As elephants live in herds and require large
habitable areas, they tend to change the surrounding atmosphere from forests to
grasslands and help to disburse the seeds in an ecosystem that has no natural means of
pollinating the area. An elephant requires around 70 to 100 litres of water everyday.
Therefore, the elephants in dry zones and dry seasons, dig holes in riverbeds in order to
collect water and help sustain water for other species as well. The elephants” habit of
clearing the path they roam has acted as natural buffer zones when forest fires take
place.

Questions :

(a) What are the elephants considered as ?

(b) How many litres of water does an elephant require everyday ?
(c)  Where do they dig holes to collect water ?

(d) What acts as buffer zones during the forest fires ?

OR

Read the following poem and answer the questions given below.

Books are what I like the best

They’re not just toys like all the rest

That break, or get old, or don’t want to play
A book gets better everyday.

Sit down and open it - Soon you'll find

A whole new world jump up in your mind,
People and places and all sorts of things -
Dragons and princesses, goblins and kings.

Dinosaurs walking the earth like thunder,
Ancient Egyptians who make you wonder,

Books about planets and space exploration,

The truth about rocks, and the birth of our nation.

And perhaps the most interesting story of all
That tells of the Prince who is going to call,

And even a picture to show how he looks -
Now these are the things that I like about books.

Questions :

(a) What jumps out of a book to take you to a new world ?
(b) How do the dinosaurs walk ?

(¢)  Why does the poet say that books are better than toys ?
(d) What sort of books do you like to read ?

-00o0-
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[ Qs wHlQuaTser : 100
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Sleyemraet : (1) mensgl elammss@pn sflurs Fa’ ueurdl o @rersT eremLigen e

sflurisgé Qararereybd. FslLSeld Gamnuimuder mns
samasrasiluurerfiLb o Leangurs Qsflelésea].

(2 Beob g &GUY @obulma WLECDL e (PFHSDH @D
2Ny &GaTy HousH@D LweTLHSS CouamBibd. LILBISET auareusnE
Quendler LiweTUHSS6LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

GINIEE
Note

GOl :

Note :

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

QeucilarmssTer Brem@ LGHsamer CQsTarTL g.

This question paper contains four parts.

u@$ - 1 /PART -1

i) Slewensg amssEns@h eleweflsseyb. 14x1=14

(i) Qasr@ssLULLL BresE ellensafled Waa|b erpenw edlenLulener
Capes0ss @GN HLer elaulamenyb GCFisg er(pseLb.

(i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

A={1,2}, B={1, 2, 3,4}, C={5, 6} wpmid D={5, 6, 7, 8} erailer &Clp QarH&aHLI

vl L eneugefled otgy sflwrer oo ?

(=1) (AXC) < (BxD) (<) (BXD) < (AXC)

(®) (AXB)c (AxD) (%) (DxA)c (BxA)

If A={1,2},B={1,2,3,4}, C={56} and D=1{5, 6, 7, 8}, then state which of the following
statement is true ?

@) (AxC)c (BxD) (b) (BxD)c (AxCQ)

() (AXB)c (AxD) (d) (DxA)c (BxA)

f(¥)=22—x erafled, f(x—1)—f(x+1)=

(1) 4x (=) 2-2x (@) 2—4x (FF) 4x-2
Let f(x)=x2—x, then f(x—1)—f(x+1) is :
(a) 4x (b) 2-2x () 2—4x (d) 4x-2

waatligen au@sse gimens Cannsasll LwaTLBSE, g Wang 1ppeler
SEFHSWD 9 - cUGSGL Curg el s@h BHaer :

(=)0,1,8 (W) 1,3,5

()1, 4,8 (&) 013

Using Euclid’s division lemma, if the cube of any positive integer is divided by 9, then
the possible remainders are :

@ 01,8 () 1,48 © 01,3 (d 1,35
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A =265 LD[DQJLb B=02644063 4062 .......... +20 Grewss @&W@S&DuL@dTGTgJ.

esreu(peuameuddled Tl 2 arentn ?
(<=1) B -ypangl A - el 2 ofsd
(=) A wHEL B sioid

(8) B -paig A -g 6l 1 flsd

() A -Seng B - ol 1 2iflaibd

If A=265 and B=2064+4263 4262 4 ccenve. +29, which of the following is true ?

(@) Bis 2% more than A
(b) A and B are equal
(c) Bislarger than A by 1

(d) Aislarger than Bby 1

Fop T i

a® —

(<=)a+b

(&) a>-p? () 1

(a) a-b (b) a+b
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6.

@ Hlred enflufer, Hleny Hlyed wrHm fewtl :

(=) 0@ Aawfl (<) epenavail L jenfl

(@) Blyed> e () ooy iemf
Transpose of a column matrix is :

(a) unit matrix (b) diagonal matrix
()  column matrix (d) row matrix

ALMN -é ZL = 60°, 2M = 50°. Gog)b ALMN ~ APQR erarfléd £R -ei gl :

(1) 40° (=) 70° (&) 30° (/) 110°
In ALMN, £L = 60°, /M = 50°. If ALMN ~ APQR, then the value of /R is :
@) 40° ®) 70° © 30° d 110°

UL gl 2 aremeumn O -eneu epworgs Camem eul Lgder P -a QgrhCar®
PR erafled, LPOQ eug)
R

(1) 120° (<) 100° (@) 110° (FF) 90°
In the figure, if PR is tangent to the circle at P and O is the centre of the circle, then
ZPOQ is:

P R

N

@ 120° (b) 100° © 110° d 90°
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r=11 erand Qar@ésiul L. Crr&Csmiger FaTUTLTEg) :
(S) x -SN&F&HE@ @Qenent

() y 25855 Gevant

(8) YFuyerafl auflFQaadeid

() (0,11) - eramp Laefl cuflFClsaaid

The straight line given by the equation x=11 is :

(a) Parallel to x-axis

(b) Parallel to y-axis

(c) Passing through the origin

(d) Passing through the point (0, 11)

tan 0 + cot § = 2 erafled tan? 6 +cot? 6 -er FLLy :

(=)0 ()1 @) 2 () 4

If tan 0 + cot 0 = 2, then the value of tan? 0 +cot? 0 is :

(@ 0 (b 1 (© 2 (d 4

24 Q&.18. 2w, 6 Qg8 Y repb 2oLw seflbaraileamed GQawiiL
@ FabQenar e Smidl Camerors wrhlerme, GCararddlen < :

(=) 24 Q&.i8. (<=1) 12 Q&.15. (@) 6 Qg.18. (FF) 48 Q&.85.

A child reshapes a cone made up of clay of height 24 cm and radius 6 cm into a sphere,
then the radius of sphere is :

(a) 24 cm (b) 12 cm () 6cm (d) 48 cm
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12.

13.

14.

I DADGSHET YT pETer (h CHMerTLILBE 2 (HESLUILL(H Iy DHEGEHET DpTLPEnLIL
8 gio GameT LBGISHeTTS: &SLULEEDS erafle ry i1, :

(=) 2:1 (=4)1:2 (@) 4:1 (fF) 1:4

A spherical ball of radius r; units is melted to make 8 new identical balls each of radius
1, units. Thenr; :1,is:

@ 2:1 () 1:2 © 4:1 (d 1:4

100 sreyls Yeteflseflen symafl 40 whmib HLellesshd 3 erafle afwssnigaden
QUTESE Fa(hFeoTeng) :
(<=1) 40000 (<) 160900 (@) 160000 (/) 30000

The mean of 100 observations is 40 and their standard deviation is 3. The sum of
squares of all deviations is :

@) 40000 (b) 160900 (©) 160000 (d) 30000

Yufle Tsg&ESET {a, b, ¢, ..., z} -~ BHS @RT TWSG FeumLiL
wpermuiler Caire| QRuWLLHEDS. HbS eT(WPES X -5@& PHMSW eT(PS5EIHsafldD
RIS QHLUSDHETE HlSpss6,] :

(@) 12 (@) 35 @ = (") =

If a letter is chosen at random from the English alphabets {a, b, ¢, ...., z}, then the
probability that the letters chosen precedes ¥, is :

12 1 23 3
@ 13 b 13 © % @ %
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u@S - II/PART - II

eremeuCuggid 10 eflanmés@ps@ eflenweldse . elenm eranm 28 -&
sLLmuwrs e wellEseab. 10x2=20

Answer any 10 questions. Question No. 28 is compulsory.

15. AXB={(3,2) (3, 4) (5,2 G 4)} erafléd, A HMID B -3 Srairs.

If AXB={(3,2) 3,4) (5 2) (5 4)}, then find A and B.

16. f:N — N eran &miy f(m)=m?+m+3 6Tem cUTUMNSGSILILLITED Al RETMIHSE

QREMTEN &ML 6Tend ST (Hs.

Show that the function f: N — N defined by f(m)=m?+m+3 is one-one function.

17. m LHYID n Qe eTeamEear erafld, eThe m -6r HILSERE®S 21 X 5™ eTein 6T e

5 eTaim Q&ESEMEE QSTER(H (Lplgud ?

If m, n are natural numbers, for what values of m, does 2" x5™ end in 5 ?

18. @ Qgrir eafleguller Qurg 2 mly a, =1 2

n?; n (1 MHENM GT 6wT

n . .
7; n (1 @rLanL_ eTawT

erafled 3 -eugl HMID 4 -6ugl 2 MILILIEEMETS SHTeHTs.

Find the 34 and 4% terms of a sequence, if a, = 2

n? if nis odd

n- . . :
— if nis even
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19. 12+422+32+ ... +10% -6t WAL sraws. @& BB 22 +4%+62+ ... +20% -6
wH LI Srers.

Find the value of 12+22+32+ ... +102 and hence deduce 22+42+62+ ....+202

20. 9x2+3kx+4=0 ereiin G)(HLIGFFLETLTL g6 APEBIGET GO HMILD FOWD eresied
k e Sl sres.

Find the value of k for which the equation 9x2+3kx +4 =0 has real and equal roots.

V73
21. A=|=+5 2 |aaflé —A -uler HleoyHlyed wrHm emllenws srems.
NEIE]
V73
If A=|—+5 2 | then find the transpose of —A.
NI

22.  Qermeumauamaupiley AABC -ufléy AD pengl, £A -uflerr @HEnGeuL Iy 2, @GWOm
eran Gandlésayib.

AB=5 @&.15.,, AC=10 @&..5., BD=1.5 Q&.15. wHmd CD=3.5 Qs..5.

Check whether AD is bisector of £A of AABC in the following.

AB=5 cm, AC=10 cm, BD=1.5 cm and CD=3.5 cm.

23. (14, 10) wHmbd (14, —6) WHw yearelsamer Qamend G CrirsGCaTL g6

FMUGHGCUE SHTEHTS.

Find the slope of a line joining the points (14, 10) and (14, —6).
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1+ sinf
: D: ———— = secHh + tanb
Bepdbsaid - 1 g
1+ sinf
Prove ,/[——— = secf + tan6
1 — sinf

e Camersdler Lpliuriiy 154 #.18. erafled Sigen LD sreims.

Find the diameter of a sphere whose surface area is 154 m2.

@ San arsCararser ogliuriy 1386 g.8. erafley gar
yotiurtileneansd srers.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface
area.

ESHTEMID STo|sEhsE 6ids LHMID 6l Qs(pemeusd Srems.
63, 89, 98, 125, 79, 108, 117, 68.

Find the range and coefficient of range of the data.

63, 89, 98, 125, 79, 108, 117, 68.

@ edrafLpm o (peverulen 2w, o yp wHmb Qeuelliym < rk &er
wpepGu 9 Qg.15., 3 Qg.15. wHmD 5 QF.5. <Y GL. 2 (HmaTdW 2 (HeUTESS

CaenculiLhib @ b9en ser eTellaners &mems.

Find the volume of the iron used to make a hollow cylinder of height 9 cm and whose
internal and external radii are 3 cm and 5 cm respectively.
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U@ - II/PART - III

@MY : eremeuGuend 10 ellamssEné@ el weflsse b, eflam eremm 42 -8

SL_Lmwwns 6l welése|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29.

30.

A ereig) 8 -g5 il @enmeurar @i eramaaficn sewrd,

B ereiiLigy 8 - el Gemmeuren UST eTamtsaflen senib,

wHmb C ererug @rlieLliueml UST eTansaier seaurbd erafle,
(AnB)xC=(AXC)N(BxC) gflumidsea|b.

Let A=The set of all natural numbers less than 8

B=The set of all prime numbers less than 8

C=The set of even prime number. Verify that (AnB) X C=(AXC)n(BxC).

A =1{1,2,34 wpmb B = {2,5,8, 11, 14} erenien @ (p SenThi&eT eTens. f : A —> B
eTed &miy f(x)=3x—1 erend QarHssliLl(Hereng). @gTilanear,

() SIbYSGHULD

(i) L euement

(iii)y euflens Gemgsafen Genrd

(iv) euengLILID

S Hwepored @Ghlsse,b.

Let A = {1,2,3,4)and B = {2, 5, 8, 11, 14} be two sets. Letf : A — B be a function
given by f(x)=3x—1. Represent this function :

(i) by Arrow diagram
ii) in a table form

(
(iii) as a set of ordered pairs
(

iv) in a graphical form
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100 -&@W 1000 -&@0L @l Cw 11 - uGUBHD Amarsg Gwe
cranTgaflen gm(DSe HTams.

Find the sum of all natural numbers between 100 and 1000 which are divisible by 11.

Sigs . 6x + 2y — 5z = 13
3x + 3y — 2z =13
7x + 5y — 3z = 26
Solve : 6x + 2y — 5z = 13
3x + 3y — 2z =13

7x + 5y — 3z = 26

Qemeu(md LGemULG Comaeusaien L5.QLIT.6u. STas.
x4 4+3x3—x-3, 3 +x2-5x+3

Find the GCD of the polynomials, x*+3x3—x—3 and x3+x2—5x+3.

2
)’
LY

10y . L . .
- 2 e Careneuudlen cUTESHELPeILD STesms.

y y *

X2 10x 10y = y>
7

; ; = - — 4+ 27 - — +
Find the square root of the expression, yz y v b

[ Slliys / Turn over

www.Trb Tnpsc.com

3562 (NS) 12
2 -1
1 2 1 - . . . ..
35. A= ) 11 oomib B=| =1 4 | erafler (AB)T=BTAT ererruiengs sfluniss.
0 2
2 -1
1 2 1
If A=( o J andB=|-1 4 | show that (AB)T=BTAT.
0o 2

36.

37.

38.

Carenr Q@ sw6leullg. CapmsHaner eT(pd Hlme|s.

State and prove Angle Bisector theorem.

(=4, -2), (=3,k), (3, —2) wOHMD (2, 3) YFweuDenn (PeOETSHETTEHE ClFHTERTL
BIH&rsSer Lrliuete| 28 &.oa@ser erafld k -ufler iy sramrs.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
(=4, =2), (=3, k), (3, —2) and (2, 3).

60 5. 2 wyeperer CaryrsHean 2 &8 ul el HHg Qe GSSTE 2 6Tem 6 (m
clerd@s sbuSder o 58 wHMD guiler Qn&as Caramnisar wpennGuw
38° wHmb 60° erafler, efersEGs SbLUSHT 2 WTSMSE STETS.
(tan 38° = 0.7813, V3 = 1.732)

From the top of a tower 60 m high, the angles of depression of the top and bottom of a
vertical lamp post are observed to be 38° and 60° respectively. Find the height of the

lamp post. (tan 38° = 0.7813, /3 = 1.732)
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AL 1D 20 Q&.15. o eem @i o (hever GuigeUd SaTanTTy @Geuamaruid 9 Qlg..8.
2 wrsHn@ B 2 arergl. <,rb 5 Q&.15. wHmb 2 wirhd 4 Qg.15. 2 e w i Ablw
o erafLpm o Caorsg o maver Biled wppenowrs epp@Eh Curg gHuBn Bllar
2 WTeneusds Sanéd (Hs.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A small

non-hollow cylindrical metal of radius 5 cm and height 4 cm is immersed in it
completely. Calculate the rise of water in the glass.

7 Curligsafledy g HMNsQs &iym r(ds @l Lmser weapGw 70, 80, 60, 50,
40,90, 95. S eflwssDd Hrems.

The scores of a cricketer in 7 matches are 70, 80, 60, 50, 40, 90, 95. Find the standard
deviation.

Qe Frran LsLEET WPeopwrs @GCr Crrsder o mlLliLBhSpg.
() Qreav® usaLsaigibd @Cr el HeL&s,
(i) pswiyseien QUEHESDHLIET LIST eTamamTad Sl _&s,
(i) pswHULsalen sHSD LST cTawreantad Hepl&s,
(iv) @ewdluysefilar B 1 -s QHEs,
S Blspsflseflen Haspsseismers srams.
Two unbiased dice are rolled once. Find the probability of getting :
(i)  a doublet (equal numbers on both dice)
(i) the product as a prime number

(iii) the sum as a prime number

(iv) thesumas1

[ Slliys / Turn over
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42. AB eramp GpisGar® <pw iFssamer A wpmib B Leraflsafldr Qeul Hidmg.
AB -a p(LyeTefl (2, 3) erafléy AB -6 SOGTLITL Iq anas: STaRTS.
A straight line AB cuts the co-ordinate axes at A and B. If the mid-point of AB is (2, 3),
find the equation of AB.

B(0,)
A (x,0)
u@S - IV/PART - IV
@M : SemenSgl NaTssErdEEh ellen weflsseawb. 2x8=16
Note : Answer the following questions.

43. (&) Qar@ssiul L wpsGarantb ABC -ulen &8 LGshisaien alfsn g Greu
DLW @(F 6y Qeurss LpECHTERTD euanys. (é{GT@-I sryenfl g)

36060
(=) 5 Qa.18. <y reperer eul L sdan epwwisHelmng 10 Qg.5. Qsreaneelaerer
yereflud el (phgl ol L $8D @GS QsrHGar@aear cuarwe|b. GCogb
QsrRGar@sailan Barmismend samss (Hs.

6
(a) Construct a triangle similar to a given triangle ABC with its sides equal to 5 of

6
the corresponding sides of the triangle ABC. (scale factor gj

OR

(b) Draw two tangents from a point which is 10 cm away from the centre of a circle
of radius 5 cm. Also measure the lengths of the tangents.
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(1) ¥2—8x+16=0 eraiin @(HLIG&F FWGUTL g6 GUETLL LD euenihgl Siedlenm
SETENLOEWIS Fn)is.
36060
(=) y=2x2-3x—-5 -wlen aueFULLD euafhg ASmar Lwearu@Bss
2x2—4x—6=0 6Tan FOETUM_IgeMaNS SiGse.

(@) Graph the quadratic equation x2—8x+16=0 and state the nature of their
solution.

OR
(b) Draw the graph of y=2x>—3x—5 and hence solve 2x?>—4x—6=0.

-00o0-
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udley eresr
Register Number

Part - I11
oiNlefNwev / SCIENCE

(50D wHmD hide eufl / Tamil & English Version)

[ Quwrgs wHUQLeTSET : 75
[ Maximum Marks : 75

SAMeyemraem : (1)  Smeansgl elamés@sn sflung oiFal uHeurd o @rersT eranLigame

sfluriggé Qarerera|b. Falugeld GompulmubGear oimns
samasrafliurerilib 2 L angurs Qgfleléseawb.

2 Beod yebeg SLIL eoudene r(PSIUSHED 34 &Gy HousHEGLD

vweatuhss GCeuamrBb. ULBISE eumreusHE Queréed
vwetU(hH&SaeLd.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

(GIE
Note :

&Py :

Note :

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Qeucilammssrer BuemE@ LUGHHamanrnd Camemm g.

This question paper contains four parts.

@S - 1/ PART -1

) Sewensg lamssEns@h eleweflsseyb. 12x1=12

i) Qar@ssuulL BrenE odansafld Waealb ghamw efleulanar
Campes®ss MU Hrer e uleameanyb GCaisg er(psa|b.

(i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

N grpueeys Fmer Gapurl el & sfl Qaiw 2 Feajeug) :

(<) Ge9 Qavers (<) G Covers:

(8) @ <2y (") Q@ Geflu Qevens
The eye defect ‘Presbyopia’ can be corrected by :

(a) Convex lens (b) Concave lens

(c) Convex mirror (d) Bifocal lenses
SeuGas_ Gy eretmentlen L] /Guomeb.

(=) 6.023x10-23
(®) 6.023x10%

(<=1) 6.024 x 10?4
(rF) 6.024x10~2

The value of Avogadro number is /mol.
(a) 6.023x10~2 (b) 6.024 x10%4
() 6.023x10% (d) 6.024x10-24

Brom Sereame SenLWITEND HTeims :

(=1) Bfléd senrdsiu’ L 2 Ly

(=) Blled senrasiu’ L GEpsCamen

(&) Bl sevrssiiul L sriur sgoGuL

(FF) SMTUGT-6DL_-FOEMLIGE SF&HSLILILL FOLIT
Identify the non-aqueous solution.

(a) Sodium chloride in water

(b)  Glucose in water

(c) Copper sulphate in water

(d) Sulphur in carbon disulphide

50 WengsenL Qamem Wer GGLDHM e Wle epesgier @Qenanmds iLi(HE DS
6 A WenGerm_L_ioreng) Qbg @&ELhM eullwirs umiidng erafle 5 HlOlL_kisefla
2 (heur@ QeuliuigSler jerey :

(<=1) 48000 J (<) 54000 (@) 45000 J (/) 84000 J

An electric heater of resistance 5 () is connected to an electric source. If a current of
6 A flows through the heater, find the amount of heat produced in 5 minutes.

(a) 48000 ] (b) 54000 J (c) 45000 ] (d) 84000 J
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C,H,;OH +30, - 2CO, +3H,0 ereng :
() erggeamme H&ES0D

(=) ergsamed erilge

(8) erssammuis oo sfnGardmid
() ers5Caned 2&HnGarmmibd

C,H;OH +30, — 2C0O, +3H,0 is :

(a) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

STHOIOOT FEUTEFSSH 6 APOLD 2 (HEUTeUF)

() T588 Ydsanred
(/) evumGoul

(=) sriGurenanl” Gri_
(@) SfawLd Gamer
Which is formed during anaerobic respiration ?

(a) Carbohydrate (b)  Ethyl Alcohol
() Acetyl CoA (d) Pyruvate

“p@fm 2 L HElFweSlwedl e SHNS” TE AMPSSILIHLIGUIT
(=) adlev-eriMGuim

(@) srre Gevanr_evLe et
Who is regarded as the “Father of Modern Physiology” ?

(a) His-Atrio (b)  William Harvey
(¢) Karl Landsteiner (d) Edward C. Kendal

(<=,) elebadwid ammied

(/F) erleum C. Qaetred

Crevwelit samisser sraliL(Hb @)L LD
(<) Y &FTENHET

(rF) ewslLmen

(1) semasar

(@) QLarenrl(Hser
Node of Ranvier is found in
(a) muscles (b) axons
()  dendrites (d) cyton
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3569 (NS)

3569 (NS)

9.

10.

11.
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, Comgmier QerBiled ofswrss srariiuGHDng.

(1) y&8len
(@) sllurdeienser

is found abundantly in liquid endosperm of coconut.

(@)
©

DNA -eneu Geul L1 Liwemi(hieug :

Auxin
Gibberellins

(=1) s55M5CaTD

(@) &8

We can cut the DNA with the help of :
(a)  Scissors

(c) Knife

Qur S sIs.

(1)  urdelemerd GCermany(h

2 Csl8lwibd

(3) rFwbd

4 @Crmiwbd

(21) M-, -(i), @)-Ev), (4)-(i)

(&) (M)-(ii), (2-(), (B)-Ev), (4)-6)
Match the following :

N
—

N
NN

a

=

C

(
(
(©]
(
(
(

~

Polyvinyl chloride
Cadmium

Lead

Chromium

V-G, @), G-Gv), @)-G)
(U-(ii), @)-(i), B)-(iv), @)-6)

(<) sl CLrensefen

(%)

(b)
@

ersdladle

Cytokinin
Ethylene

(<) QrevMEever QBT

(FF) iq.eremer. eneGaan

(b)
@

®

(i)

(i)
(iv)

Restriction enzymes
DNA ligases

Gwhamsseiler ppaner cuemigSlanu
urdla&d g

QariQumss wer_sser
cueri&Slepws L& mg)
APEFHSHETMED DEVEILOT
BrbLEmeT LTSS ammg)

() (O-(i), (2-(), B)-(ii), (4)-(iv)

(%)

0
(i)
(i)
)
®)
@
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12.  sflwren @emewranis SrewTs : u@d - 11/ PART - I
@M : eremeuCuiend 7 ellanmés@rs@ eflenwaféae . efanm erem 22 -&@ 7x2=14
(=) 216CyrQaen_fé - QeerGrmdlwim &CrrGurGgmis er sLLmuwrs afenLwefsseayb.
WLDUJ,{}BQ!D@ mAe sTaTiLGSDS. Note : Answer any seven questions. Question No. 22 is compulsory.
aarGeu  @reawm(h FLLOD HFHISGET 13.  upsssrmsar upbl Aoy GHlLY euamys.
o eurdlenan Write short notes on gears.

14. Lrlerit eflenerey Benl QLD (piquirg @TET(H @ POSMETS Fnmid.
(<) el-Quol L rQgen Mg - Qe Crrillwi @CrmrGurGerier ¢ Mention two cases in which there is no Doppler effect in sound.

e srariuBhEng
15. 2amend Qeulit eflfle] Gemsbd euamrnisseD. Caib iger edlaar

T(PSIS.
(&) Gulrtgen s - CsarGrmslwi &CrrGurGemsen Define co-efficient of real expansion and mention its unit.
Gmmmg@é) AN DHI @\revr(H 5mﬁm@d‘rm
SIBISEET 2 (HEUTEHE-FH DS 16. Y osanrosamers sarLhlub Carsameander cllenareniis Fmmis.
Write a reaction which is used for the identification of alcohol.
() eCarQser fé& - Qe Grrillwi CrmGurGsmbler e 17. Bl rrenseflen eperm euens epblienll eT(pdl Siawel STarTlILIHLD QLS55
(PDEEG DS Ementii-LIBHeUSTD, (1 NS
GleLwrer srupb @@ Barl &yepb Name the three types of neurons and find its location.
QupmieTeres
18. Qar@h&suul(ferer UL A, B, C, D &l UTGERISMET enLWITETD
Find the correct pair. a;rrmrreqLD‘ . . .
Identify the parts A, B, C and D in the given figure.
(a) Acrocentric - The centromere is found near the centre of the
chromosome with two unequal arms. A
(b) Submetacentric - The centromere is found on the proximal end.
(¢) Metacentric - The centromere occurs in the centre of the

chromosome and forms two equal arms.

(d) Telocentric - The centromere is found at one end with a short
arm and a long arm.
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Heng 2 ulilingeubiseiler srogensg ereueumm iMbg Csmerer @uwigibd ?

How can you determine the age of fossils ?

DNA &flyéd Grengs Qemfledr i LiGSler penl(pepm LIWLGTLUT(HSEMET 6T(LHSIs.

State the applications of DNA fingerprinting technique.

avdlprés s HmsHudery Cuean (STAGE) eramug) unml Sm GO eT(psis.

What is “Stage” in Scratch editor ?

e Qurmealledmbg Qeaqib gallsspapurag 0.3 5. Gelws QsTaaay
QaranL 6lf&@0n Qavearerd @aldsiulH 0.2 8. eramp Qgrevaeie 19bLSMmS
ghu@sgEng erafld Qurmeflar Qsrapaameus samrsadhHs.

A beam of light passing through a diverging lens of focal length 0.3 m appears to be
focused at a distance 0.2 m behind the lens. Find the position of the object.

@S - 111/ PART - 111

sLLmwwrs el welsseay.

Note : Answer any seven questions. Question No. 32 is compulsory.

23.

24.

TTEQSL. erajsene ellendEEs.

Describe rocket propulsion.

erafl merCantradluden LwaTUTHSET Wreneu ?

What are the uses of Simple microscope ?

[ Sliys / Turn over
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25.

26.

27.

28.

29.

30.

(=) BAWTe) SiemeseT erammimed eree ?
(=) erdlQrmeluflenm LHSGHIEU LILIEGTHMETE &nmis.
(a) What do you understand by the term “Ultrasonic waves’ ?

(b) What are the medical applications of echo ?

2 Coors oiflrardamss $HEGLD (PEDSET WTen6l ?

What are the methods of preventing Corrosion ?

Gemiiy whmib 14 TEmer e Coumuhisss.

Differentiate soaps and detergents.

Caugur® 565 - @@ dsdows sray Cair wHmb Qb dsdows
sreuy Ceurr.”

Differentiate between Monocot root and Dicot root.

waflgs Qsusder Geueflliymn epwlienL ULLD euenhgl LITEBIEET @&hl&Eseb.

Draw the external structure of human heart and label the parts.

ULLTT Qe sTeureiiled eramiSena eUaTWMISS S6 (PSSLSFIeUSMS
CT(PGIS.

Define Ethnobotany and write its importance.
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31. gen HAdens pevm LD efaTdHEs.

Explain about Gene Therapy.

32. (=) 100 £. Bfled 25 &. sTEHDIMWS HOTST @1 SFFDd SWTMGESILGHSDS.

oigan sangCummefler Hlenm &gaﬁg,gmg,é; HTEHTS.

() sl 2 goupr 2 (saup erafl> mplevars Hseis)

(@)

(b)

()  e@mrL eumpeile) BID LTRSSl SFel HhHSISET, cumil-
spayd Hreuriser, Yars sOLuranser, &mulprdafsdr Cumremm
SEOTFELSHaTD 2 6rer HErELTHailen SeTa s w/w eTeim LSSSTE
MU LuBEDg.

) sefbyser, SBlofsdser, Cerliysdar Curapeupdled o drer
seorgsaiian QaMeyser v/v eramm GOUALLLGS DS

A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate

the mass percentage of solute.
True or false (If false give the correct statement).

(i) In our daily life, solution of syrups, mouth wash, antiseptic solution,
household disinfectants etc., the concentration of ingredients of solution is

expressed as w/w.

(i) In Oinments, antacids, soaps etc., the concentration of solution is expressed

asv/v.

[ Sliys / Turn over
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u@$ - IV / PART - IV

GO : Semensg lamésEns@h eflalwellsse b, Csmeuwrar @)L kisafld
LLLD eUenys.

Note :

33.

34.

Answer all the questions. Draw diagrams wherever necessary.

(=) eipsafley LwETUESSILHD WerEneny elaTdssea,b.

360608

(=) <peour, 15°Lm, sror sdisaflen LamLsamen @ULAHS.

(a) Explain about domestic electric circuits.

OR

(b) Compare the properties of alpha, beta and gamma radiations.

(=) @

(i)

(=) @

(1)

@ O
(if)

(b) @
()

palian Samissrareanguien CarlLmpHseamar TSI
Sleusr_Grm aflfufler LweTLTOs6T FCHEID QTanT( Fmmis.

360608

3x7=21

@hep @LUQuuTss daaaw $EHS THSHESTL(H L6

eNlend@s.

@riemL @LUCUWTEH olNmarlear eumssamer

T(HSSIGSTL_ (e cdlaTs@s.

Give the salient features of “Modern atomic theory”.

Write any two applications of “Avogadro’s Law”.
OR

Explain single displacement reaction with examples.

Explain the types of double displacement reactions with examples.
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(i)
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(i)

b) @
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(i)
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pwiadlen Feurss GmAa @[S 65 DL CUEMETILIBIGET SHrenTiiLi(heg)
ereu ?
AmBr ureng CrmSQSsTOM (UTI) -6 flenara|samand & mis.
ETLALME ]
ig.eTeor.er-efler 2 udflwed paHwsgieud wrg ?
@sw CrmigeT erpU(elamnss shsas Conatdrend (patarFsflams
BLGUIGEHDEHEETE FoDs.
SUDTET LWL (H&E 2 6TemTen GLRbenSSHMeTL ] LUTGISTLILSHST e
SAIGPONHET FECHEID 2 FnMmis.
Why are the rings of cartilage found in trachea of rabbit ?
Write a note on UTL
OR
What is the biological significance of DNA ?
What precautions can be taken for preventing heart diseases ?

Mention any two approaches for protection of an Abused child.

-00o0-
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udlay eraim 1. easHCuriGureler umLgar @&sraluflen L samer ereu el LG ded
Register Number Camhsiq 5358 ?
QLévaflevad] ]
Part - III (1) Adoefilds (=) s BTl
. (8) <=Crmeur () gwiren
FPS é{[ﬁ]Gﬁ]u.IG\) / SOCIAL SCIENCE Where did the Ethiopian army defeat the Italian Army ?
(SO wHmd <yhifle el / Tamil & English Version) () Delville (b)  Orange State
() Adowa (d) Algiers
&re Sjema] : 3.00 wantl CHILD | [ Qurgs wHUGQLETSET : 100
Time Allowed : 3.00 Hours ] [ Maximum Marks : 100 2. gé;aﬂu_l Drr@g;@'-r genLudler LIL_L W FTEFGTLD ma;@u_l@gggrr@‘r [_r,rrérr :
SMeyenrseT : (1) ooass damsseEpb sllurs ofa0 uHeaurd o drergm (=) e 26, 1942 (=) g Oar 26, 1945
eraTLSaET FHLTTEEIS QgmeTera|bd. &L ILedlld Gampur® (&) smaauf 1, 1942 (%) sgameufl 1, 1945
‘@@Uﬂ.m . Siopd s@msrauumaflLb B The U.N. Charter was signed on :
Qzflell&gEayLb.
) f;me Sidws B®IL @wolman ol GG o wEhE D (a) June 26, 1942 (b)  June 26, 1945
g 2G4 BeuBLS (c) January 1, 1942 (d) January 1, 1945

2 5CHTEHeausHEGL LwaTuBSs Couam(Hibd. LLEigeT
aumreugn@ Gueatdled LweTL®HSS Couamm(Hid.
3. ‘sswriss Gramey’ erenid mredlenm <, Aflw

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately. (=t) seur gureps Freveud) (<) UBLFTD LITETHFb

2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@ ' " P was (@) siamafl CQueger () GasCoundlrprs
@I : QeucilamssmeT 6@ LGHsmand: Clsreim_g). The author of the book Satyarthaprakash is :
Note : This question paper contains four Parts. (a) Swami Dayanand Saraswati (b) Atma Ram Pandurang

u@@ - I/PART - 1 (¢) Annie Besant (d) Debendranath

GOl = () Sievensg Namss@Eps@n elawalsseb. 14x1=14 4. opg HarrsHlulen Geanarenfluiier CorliLm préyufl GHs®as FLLID

BleopGaupmliu Lg ?
(i) Qasr@ssULLL BIeE el safled e b erpya i eSlen_ulenar

S - ! : ) e Y (1) Cared Seriaé (=) Qe Gamr Serigs
Caipes0ss @GN HLer elenulamernyd GCaisg er(pseLb.
(@) werrm Heriss (F) SESTERT SEGCUTBIHET
Note : (i)  Answer all the questions. The context in which the Chotanagpur Tenancy Act was passed :
(a) Kol Revolt (b) Indigo Revolt
(ii) Choose the most appropriate answer from the given four alternatives and ) .
write the option code and the corresponding answer. () Munda Rebellion (d)  Deccan Riots
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Fgm| :  SMEEre embsTamalser 1939 - ar®h Lsed afadar.
ST : HTHIE TN DenFFraaisamer < Cardldsroe @ndwreler sree
s ops Curfld LRGsHng.

(=) Fapm WOHMD sTrewid Grenr G sHlwrearg. <y eaTTed &ryewTD
spmsarar sflwrer elerésh @erana.

(<=,) EndmI FHlLITETS); LTI STTEWID FEIDTETS).

(8) snpm wWHMD STTewID @QrarHCL Seummens).

() Fapm wWHmD srrewrd @QrarHCw sflwrerg WwWHMHID & FewTDd
FaDM|SSTeST FHlTar HeT&aHD D @LD.

Assertion (A) : The Congress Ministries resigned in 1939.

Reason (R) : The Colonial Government of India entered the war without consulting
the elected Congress Ministries.

a
b

C

=

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

=

(A) is correct, but (R) is wrong.
Both (A) and (R) are wrong.
d) Both (A) and (R) are correct and (R) is the correct explanation of (A).

NE3

(
(
(
(

QurpbsTsamss CoiH0sHESWD

(=) QarGeomy el (<=y,) Geubupr(h el

(@) Aedam erifl () vpCeupsr® el
Pick the odd one out.

(a) Kolleru Lake (b) Vembanad Lake
(c) Chilka Lake (d) Pulicat Lake

Qumer L& erpg Geuarmeir QuITeT 2 HUSHWL6m QFTLTL L wig ?

(=) 2 (peners HipmhiE (<) eremQenti ellsg&Es6r

(@) Gsen () samed
Golden Revolution is related to the production of this :
(a) Potato (b) Oil seed
(c) Honey (d) Jute
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8.

10.

11.

Gzl smHhprHme Hmeiand jemwbgieTer @L LD :
(1) cuflsTurs (<) Qaemena
(@) searaflwrgLi () efliflerad
The National Institute of Wind Energy is at :

(a) Faridabad (b) Chennai
(c) Kanyakumari (d) Vizhinjam

eramepL Wb LHeUGETOM eThy &L a6l Bbs Frluussms oaohdssé
Qarardlpg ?

(=) <Irds sLe

(8) @bBwl QuemEsHLD
Retreating monsoon wind picks up moisture from :

(a) Arabian Sea (b) Bay of Bengal
(c) Indian Ocean (d) Timor Sea

(=) UBISS L6

(FF) epgepis SL6

CuilLi @eusrare QsrenaGuEl eramr

(=1) 1095 (<) 1944 (@) 1098 (/) 1077

Disaster emergency contact number :
(a) 1095 (b) 1944 (c) 1098 (d) 1077

emeumeuameupmer erps 2 fenw Dr. B.R. obCuSsHT Sjeuisarmed ‘@b w
rflwud enwiber @suwibd wHmID Y eror” erear eleufldsiLbhSng ?

(=) gww 2 flenw

(<) swég160 2 MAeno

(8) @rdueamwliysElul®h Siey sranb o Mo

() Qerggifenio

Which one of the following rights was described by Dr. B.R. Ambedkar as the
‘Heart and Soul of the Constitution” ?

a
b

C

=

Right to freedom of religion
Right to equality

—_ 2

Right to constitutional remedies

(
(
(
(d) Right to property
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12. Sans sFHATL®LES LUTSUSTRISETE cTOMOSEET UGSSeUI : u@G$ - 1I/PART - 11

(1) weyer_ CuLL e Gy (<) & Sfled gridleflssn @Oy : eremeuCuignd 10 elanmésEns@ elenwelldsealb. efearr eram 28 -&s
(@) HerQuarm’ =i e (FF) SIa SILIFID 8oL STer SLLmuiors aflenLwefléese,b. 10x2=20
Who drew up the borders for newly independent Pakistan ? Note : Answer any 10 questions. Question No. 28 is compulsory.
(a) Lord Mountbatten (b)  Sir Cyril Radcliffe
(c) Clement Atlee (d) Khan Abdul Ghaffar Khan
15.  gegpwl Yyl fuler 2 asarreilu sréssdaars Carigl Hé Sr(Hs.
13. @m po@ @urr@mrrg,rrmb @g)élfﬂéﬂ devpeuranr  euaTiFS&EETS Highlight the global influence of Russian Revolution.
SfpELLESSLLOADS
(1) e el wbee (=) tpogen spams . . o
(@) eufl sQengser () Qarggl 2 Mepser 16 bgh sapEs fapma dlafiéseb
A better economy introduces rapid development of the : PPesgribe the Pearl Harbour incident.
(a) Cash Subsidies (b) Capital Market
(¢) Tax Concessions (d) Property Rights

17.  seumfl elGeusranbgier ‘QeudurLrert HsrbssHer Sras6wnerer ?
What was the impact of Swami Vivekananda’s activist ideology ?

14. sflllders spens Caib6lsHEsa WD

) QuimsursGeur dag QsupamsursGour uaTLkisealear LDDTEEGmD

SOUY UamSSDE (pas STIETDMELD. 18. @mudCowu Gpduredd elesrilsaiear Senisd erelourmn auamsiILBESL1I-
(i) s@mUY uarb GCsrarmeisHE WVe wsHu ukEg adiug UL (pererer ?
QamADFIEDUITEGLD.

How are the peasant uprisings in British India classified ?
(i) SHLL LD 2 (HeuTeUSNE HLSS @ (PSEIL eLPLDMTGLD.
(iv) eaufl &g Geopeurs @QmsGnL Curg Hs sSHUY LD

Coranmdng). 19. ALyt Gwrafler eiyoraed GHsg dn GHLL ears.
(1) (i) wOmID (i) L (HLd (<=3) (iv) L (HLDd Write short note on the martyrdom of Tirupur Kumaran.
(@) () weew (%) (i) whpd (i) LG

Choose the incorrect statements : . . . .
20.  Lpeuwenp Qe liL| eTremmmed cramem ?
i)  Shortage of goods, whether natural or artificial is the root cause of black money.

What is burst of Monsoon ?

1

=

Industrial sector has been the major contributor to black money.

iij) Smuggling is one of the major sources of black money.

(
(
(
It
(
(

=

iv) When the tax rate is low, more black money is generated.
(i) and (ii) only (b)  (iv) only
(i) only (d) (i) and (iii) only What is mixed farming agriculture ?

21. sl GoUeTTERTENLD GTEITMTE GTEIET ?

=
=

a

C

—
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S5&H6U QSTLITL| TETDTE CTEIET ? SIS6 GUENSHET WTEnE ?

What is Communication ? What are its types ?

s urglariy Guerarewule g5l Hlosgrelrhiseflear Liki@ ererar ?

What is the role played by Mangroves in Coastal Zone Management ?

QBdWws Glures seoeum ereuelmm wryme Caiboshasliu@anmT ?

How is the President of India elected ? By whom ?

Qfgen (BRICS) gal LanloliL| 2 (HeUTGISDETET STFaubaamers GOULAHs.

State the reasons for the formation of BRICS.

GDP -ufléd uniseflliérer gianmaener er(HSSIESTL(HL 6T 6T(LpSIs.

Name the sectors that contribute to the GDP with examples.

auerials euffl erammmed ereman ?

What is progressive tax ?

Bog @BHw priger Qeseflyme Gararansuler wsHw Corssm ser
wmrenel ?

What are the main objectives of India’s Foreign Policy ?
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U@ - II/PART - III
@MY : eTemeuCugnb 10 ellanmés@psE el walldsaln. aflan ereamr 42 -8
sLLmuwrs efe welsseb. 10x5=50
Note : Answer any 10 questions. Question No. 42 is compulsory.

29. Gamgl L @Lkisemer HirliLs :
() Qaosdar 2Qwlssr, Qwssrelen & edmueiame.
(i) veue sTHSaN® STawrliLHID OFh &eT ;
Slep&slLbSerman.
(i) @n&@wSH wHmb gHnwd wWHILSsEEEE Qe ulaierer Coumum
e SAdP&ESILGSH DS

(iv) @BHur sarg Psd Sam GCorsamara FLSSHW @LLb

(v) <AQufssrelal®mpbgs _______ ewly @bHwrele HYV -g
SN pslLGSH WS
Fill in the blanks :

(@) Latin America protestedthe _ of US.A.

(i) The trees of the Alpine forests are called __ trees.

(iii) The difference between the value of exports and imports is called
(iv) India conducted its first nuclear test at

(v) foundation from U.S.A. introduced the HYV in India.

30. Geugy preflwumt upm edllfleurs eflenweflGseb.

Elaborate about Velunachiar.

31. s 2 sl CUTmEsTaT (P&EHLE STTamhiGmer clleurdssewb.
Discuss the main causes for the First World War.

32. (=) Caumu®sgis
(i) CGeuarranr Frihg WHMD S@NOD FTTHS QFTOHESET.
(ii) ererae CUTsEaTsg WHMIL @ruid afl CUTEEGaTSS).
(=) SITewTDd Snmis
s QsrLiésl waowreag QsriFSwupn GemnisemT@GLD.
(a) Distinguish between :
(i)  Agro based industries and mineral based industries.
(ii) Roadways and Railways.

(b) Give reasons :
The Eastern Ghats is discontinuous
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@&AW priHser sepLulen el wHnib QFudurhgEmer ile CFls.

Assess the structure and the activities of the U.N.

1857 -=41b yaimiqan QUBBRIGOSSSHET CHTONSETET GTTaRTEISMET 6T(LHTIS.

What were the causes for the failure of the Great Rebellion of 1857 ?

@ipduredler fpd@ wHmib Cone sLhsamrs swbeaflgmar ubPl efletsEs.

Explain the Eastern and Western Coastal Plains of India.

BETOUIDTESD TEIDTE GTEIET ? DHFET STEHEIGMET 6l6md:Es.

What is urbanization ? Explain its impacts.

< eppiflen LG oisrrriser LnH efleuflsseyb.

Describe the various vital powers of the Governor.

SjamenL BrHseEnLer HLLmelenar Guem @pSHwr Werupmib Geleflumels
Qararensuilen oiqliLienl & SHSHISemaris L iqwad(Hs.

Make a list on the basic concepts followed by India to maintain friendly relations with
its neighbours.

2 OSLOWIDTESE6T FEUTOSEMET 6T(LSIS.

Write the challenges of Globalization.

@pdHwureier Geouarrair Garerangufler o Pp&SHW CHTESBIGMET &H(HEHDOTS
TWPEIS.

Write briefly some of the important objectives of India’s agricultural policy.
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@MY : urTeeuwHY LIra@TEUTHET HTO&CHETH WHMID euamruLsHd WanpGw

Bspesmearub @LBismeryd GHUEGLHE sriBeusnE UHors
Sjauhennll updlu GBlliyser (b erws CeuamT@HLb.

Note : Blind candidates have to write only notes for the questions related to Time Line

41.

42,

Chart and Map.

Epsarauaeupin@ srasCarlh euamrs :

1920 pged 1940 eauavpuleorer gamrOslE 2L UlL WsHu BHg
Blspe|smers &ra&GaTIgd 6T(SIs.

Draw a Time Line for the following :

Write any five important events between 1920 and 1940.

QBHu auemruLSHD SpssTanid @)L hismard @hése, .
@ Byl

(i) UTFESLT

(@) ey

(iv) Qserfl Qgerym

v) Geugrrermuid

Mark the following places on the Map of India.
(i) Meerut

(i) Barrackpore

(iif) Dandi

(iv) Chauri Chaura

(v) Vedaranyam
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u@dl - IV/PART - IV
@O : Qareupd elammsseEnse eflen wefldsea. 2x8=16

Note : Answer the following questions.

43. (<) (i) Gamr & Wler updlub ew Wler sLSuller 2 Fwib LHHD GDILL
cUENTS.
i) @rrwelngs surdseier eurpsams wHmb Curgamarger LiH
el @s.
3160608
(=) @BHwrefer srHdlwigser LSS QT Es65T0 F5HWTS TSR SamaT
cers@s. eupdlen aflenera| wrg ?

(a) ()  Write short notes on Ho Chi Minh and the emergence of Viet Minh.
(ii) Comment on the life and teachings of Ramalinga Swamigal.
OR
(b) Describe Gandhiji's early Satyagrahas in India and their outcome.

GOy : uTT@meWDHD WwrameTser auamruL QgTLiymLw arés@hss
GMULSET LB 6T(LpSeLD.
Note : Blind Candidates have to write only notes for the questions related to map.
4. () Qsr@ssuul@erer QpHu UL SHd SpssTamib @)L BiGameTd
G&M&sa .
i) K2 farb
(i) sflgd wer LEGH germ
(i) (pberL en@m
(iv) wums B spd
(v) &L& euewer@Lm
(vi) QpwGauad
(vii) Gempwem e SLhEemr
(vii)) Qgarenamnuied(mpg QaTOsSST auamy CGFdeib @ruied Lirens
S6060G|
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(=) Qar@ssiul_Barer sBOIPETEH wamyuL S SpssTamib @)L kismend
GMEHa|D.
(i) Qeerener
(i) Qsri_Quiim
(i) seneflwmLoifl
(iv) Geed

(v) smellfl <pm
(vi)  LDGUTEITIT GUEnET(GLIT
(vi)) SHSHWT ened
(viii) eumigmer ellfl@gLm
(a)  Mark the following places on the given outline map of India.
(i) Mount K2
(i)  Black Soil Region (1)
(i) Mumbai High
(iv) Palk Strait
(v)  Gulf of Kutch
(vi) Neyveli
(vii) Coromandal Coast
(viil) Rail Route from Chennai to Calcutta
OR
(b) Mark the following places on the given outline map of Tamil Nadu.
(i) Chennai
(i) Doddabetta
(iii) Kanyakumari
(iv) Salem
(v) River Cauvery
(vi) Gulf of Mannar
(vii) Agathiyarmalai
(viii) Bay of Bengal

-00o0-
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